
 ANSWER KEY XISC  
1 D  

2 A  
3 (i) n (A) = n (A – B) + n (A ∩ B) 

= 14 + x + x 
= 14 + 2x 
N (B) = n (B – A) + n (A ∩ B) 
= 3x + x 
= 4x 
but n (A) = n (B) (Given) 
14 + 2x = 4x 
x = 7 
(ii) n (A ∪ B) = n (A – B) + n (B – A) + n 
(A ∩ B) 
= 14 + x+ 3x + x 
= 14 + 5x = 14 + 5  7 = 49 

 

4 C – B = A 

 
= (A ∪ B) ∩  
=  ∩ (A ∪ B) 
= (  ∩ A) ∪ ( ∩ B) 
= (  ∩ A) ∪  
=  ∩ A 
= A ∩  
= A – B 
= A (Proved )  

 



OR 

 
5 For must be real number 

must be a real number 
Which is a real number for every  

 
let  

We know that for all  

 

 

 
 

 which are associated with the 
number  in  

 

6 For must be a real number 
Must be a real number 

 
either  

 

 



For let  
As square root of a real number is 
always non-negative,  
On squaring (i), we get  

but for all  
which is true for all 

also  

 
OR 
For Df , must be a real no. 

 
Domain of = set of all real numbers 

 

 
 

 
 

7 Let A and B be two sets having m and 
n elements respectively 
no of subsets of A = 2m 
no of subsets of B = 2n 
According to question 

2m = 56 + 2n 
2m - 2n = 56 

 



2n (2m-n – 1) = 56 
2n (2m-n – 1) = 23 (23 – 1) 
2n = 23 
n = 3 
m – n = 3 
m – 3 = 3 
m = 6 

 


